
COMP 322, Spring 2022 (Z. Budimlić, M. Joyner)

Worksheet: Scheduling

• As before, WORK = 26 
and CPL = 11 for this 
graph

• T2 = 15, for the 2-

processor schedule on 
the right

• We can also see that  

max(CPL,WORK/2) <= T2 
< CPL + WORK/2

• There are 4 idle slots in 

this schedule — can we 
do better than T2 = 15 ?
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Start%time! Proc%1! Proc%2!

0! A% !

1! B% !

2! C% N%

3! D% N%

4! D% N%

5! D% N%

6! D% O%

7! I% Q%

8! J% R%

9! L% R%

10! K% R%

11! M% E%

12% F% P%

13% G% !

14% H% !

15% ! !
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